HDM11P Series

Mono-Block Directional Control Valve

General specifications
Dimensional data
Performances curves
Adjustable Direct Acting - Relief Valve RV
Monobloc body
Spool chart
Schemes
Spool positioners

www.crosshydraulics.com.au

Section 1.42



HDM11P Series

Mono-Block Directional Control Valve

General Specifications

Technical specification Metering unit
system
I/min 45

Max flow rate US.GPM. 12
Max operating pressure gg: 5470000
Max back pressure Eg: 43200
Oil temperature Z (F: ;11%01 28

o . °E 241010
Oil viscosity cSt 16t0 75
Oil filtration u <30

F), viscosity 27 cSt:

Spool leakage at 100 bar (1450 PSI), Temp. 50° C (120°

. cm3/min 12
Maximum Cu. In./min 0.732
. cm3/min 6
Middle Cu. In./min 0.366

Lower values on demand (to be agreed with our Sales Dpt.)

Number of spools 2106
Adjustable direct operqted relief valve RV
(tamper-proof seal available on request)

Single load hold check valve LC

Weight

Technical specification Mestfsritre%gnit

HDM1 1P/2 9 6 8o
HDM11P/3 s 1103
HDM11P/4 s 1321
HDM11P/5 s 1541
HDM11P/6 s -

Material specification:

Body: High strength cast-iron.
Spool: Hardened steel and chrome plated
Seals: Buna “N”.

Standard features:

1) Parallel circuit

2) Balanced interchangeable spools (provides
minimum leakage, smooth operation)

3) Wide selections inlets, work ports, and outlets
threaded ports.

4) Negative overlapping of the spool.

Optional features available:

1) Open or closed centre positions, 3 or 4 way
operations, 3 or 4 position (float position), full
open centre (motoring spool) and other spool
options.

Carry over.

Complete lever assembly

) Wide range of positioners

SRCRS)

Symbols:

P: inlet port

T: outlet port

A/B: work ports
H.P.C.O.: carry-over
RV: relief valve

P4T4: top inlet and outlet ports
P5: side inlet

To: side outlet

3.1.0.2: spool position
P: pressure line

T : exhaust line

E: centre line (by pass).

www.crosshydraulics.com.au

Section 1.43



HDM11P Series

Mono-Block Directional Control Valve

Dimensional Data

57 HDM11P/2/3/4/5/6
224"
22 | A
86"
= anjun oT%
D7 :
27°DIA P | .
2R
T J@/ ) )
m = r oI
T2 NS d\ 1 gk
— o gelR B (@R N
MRS N 33
215 |7 P2 + I
2 7
NS T,
ks Py / .
< - T V8
aQ
SR
- 286 | 18 Carry—over
0T T (H.P.C.0.)
Optional
B
| PRESS Float
B
4 —%j Pos.3: STROKE - 8 mm. - .31”
Pos.2: STROKE - 5 mm. - .19” &j Pos.2: STROKE - 4 mm. - .15”
0 i 0
Pos.1: STROKE - 5 mm. - 19" | Pos.1: STROKE - 4 mm. - .15
Pos.4: STROKE - 8 mm. - .31"
PRESS PRESS
A A
Dimensional data shown in mm and inches. Ex.: 66 =mm
2.96” = inches
N. of sections HDM11P/2 HDM11P/3 HDM11P/4 HDM11P/5 HDM11P/6
93.6 122.2 150.8 179.4 208
Dimension A
3.68" 4.81” 5.93” 7.06” 8.18"
128.6 157.2 185.8 214.4 243
Dimension B - ; ; B
5.06 6.19’ 7.31” 8.44’ 9.56

www.crosshydraulics.com.au

Section 1.44




HDM11P Series

Mono-Block Directional Control Valve

Performance curves

Oil: Shell Tellus T37
Temperature: 50° C (120° F)
Viscosity: 27 ¢St
P=T A-B=T
24 348 24 348
P A T
22| 319 | I 22| 319
‘OOOOOO‘ K {)OOOO“
20 4 290 olo|o|ofo|o 20 4 290 olofoolo
23456 B 23456
18 | 261 18 | 261
16 | 232 16 | 232
14 1 203 14 | 203
812 74 6 & 2] e
© ©
® o
S 10 § 145 5 S 10 | 145
1] 1]
1] [%]
o &
a sl 1 4 a 8 | 16 6
5
3 4
6 1 87 6 1 87 3
2 2
4 ] 58 4L ] 58
2] 29 2] 29 //
bar | PSI bar | PSI %
US.GPM. 26 5.3 8 10,5 132 US.GPM. 2,6 5.3 8 10,5 10,5
i T T T T 1 T T T T T 1
I/min 10 20 30 40 50 /min 10 20 30 40 40
Flow rate Flow rate
P=A-B Metering
20 - 290 607 15 I I
"
18 | 261 ! Ay std. Spools
o|o|olo|o|a]
16 1 2321 o|o| olo|o 6 507125
23456 g\
14 | 203 5
40
24 174 / ¢ v 4
a | 3 A/B —T 150 bar
S 10 % /
© 4 145 = 3019 75
2
(0]
S // S
281 16 w
o /
o 20
6 | 87 : /
4| s8 / /
/ 104 25
21 29 / = P — A/B 150 bar
o o ———
ar | P = 5 | |
] ymin J 2 / | |
USGPM. 256 53 8 10.5 132 inches 039" 078" 18" 157" 197"
Vrmin 1 20 30 40 50 mm 4‘ z 3 . 5
Flow rate Stroke
www.crosshydraulics.com.au Section 1.45



HDM11P Series

Mono-Block Directional Control Valve

Adjustable direct acting Relief Valve RV

P
E Fluctuating pressure
g N
w RV
T —
]
x S T
3 5|3 ; P
o Lo
8
a . >
0.015 s : d
Operating Time Relief valve setted at 30 I/min (8 U.S.G.P.M.)
Range of
240 3400 Adjusgtment Spring Std setting Setting
bar (PSI) colour bar (PSI) Code
1951 2800
2 30-95 Yellow 60 06
E 150 7100 (400 - 1300) (YE) (860)
o 96 - 210 Green 150
I —
g 107 e (1300 - 3000) (GR) (2100) 15
(0]
&t e | 211 - 300 Blue 260 26
(3000 - 4200) (BL) (3700)
bar | pg|
U.S.G.PM.26 53 8 105 301 - 400 Red 320 32
bmin 1@ 20 30 4o (4200 - 5700) (RD) (4550)
Flow rate
Monobloc body
Open center with P — T — RV (Standard)
Code
@D
HDM11P/2 | HDM11P/3 | HDM11P/4 HDM11P/5 HDM11P/6
K01 K01
SAE6 | 200.9432.6001.0 Ko1 200.9434.6002.0 Ko1 Ko1
SAES K02 K02 K02 K02 K02
200.9432.7003.0 | 200.9433.7003.0 | 200.9434.7003.0 | 200.9435.7003.0 | 200.9436.7003.0
K04 K04 K04 K04 K04
3/8" BSP | 200.9432.2044.0 | 200.9433.2052.0 | 200.9434.2034.0 | 200.9435.2025.0 | 200.9436.2011.0
K05 K05 K05 K05 K05
M18X1.5 | 200.9432.1040.0 | 200.9433.1048.0 | 200.9434.1023.0 | 200.9435.1017.0 | 200.9436.1009.0
P T
+—0 | ‘
=

2

@L

B1 A1

= |

B2 A2

Note: Body codes consist of seals, plugs, check valve, but relief valve -RV- is not included.

For availability of -K- bodies without ordering code please contact our Sales Department.

www.crosshydraulics.com.au

Section 1.46




HDM11P Series

Mono-Block Directional Control Valve

ChosS

Power beyond with P — T — RV — H.P.C.O.

Code
@D
HDM11P/2 | HDM11P/3 | HDM11P/4 | HDM11P/5 | HDM11P/6
K11 K11
SAE6 | 500.9432,6002.0 K11 200.9434.6003.0 K11 K11
o K12 K12 K12 K12 K12
AE8 | 200.9432.7004.0 | 200.9433.7004.0 | 200.9434.7004.0 | 200.9435.7004.0 | 200.9436.7004.0
28" BSP K14 K14 K14 K14 K14
200.9432.2045.0 | 200.9433.2053.0 | 200.9434.2035.0 | 200.9435.2026.0 | 200.9436.2012.0
e K15 K15 K15 K15 K15
18X1.5 1 900.9432.1041.0 | 200.9433.1049.0 | 200.9434.1024.0 | 200.9435.1018.0 | 200.9436.1010.0
B ) T
P—O—% | ‘
CHEN
H.P.C.O. ‘ HPC.O.
2 2 |
RV ‘
— 9 . 9
B1 A1 B2 A2
Closed center with P — T — RV
Code
@D
HDM11P/2 | HDM11P/3 | HDMi1P/4 | HDM11P/5 | HDM11P/6
K21 K21
SAEG | 200.9432.6003.0 K21 200.9434.6004.0 K21 K21
K22 K22 K22 K22 K22
SAES | 500.9432.7005.0 | 200.9433.7005.0 | 200.9434.7005.0 | 200.9435.7005.0 | 200.9436.7005.0
- agp K24 K24 K24 K24 K24
3/8" BSP | 500.9432.2043.0 | 200.9433.2051.0 | 200.9434.2033.0 | 200.9435.2024.0 | 200.9436.2013.0
1ex K25 K25 K25 K25 K25
8X1.5 1 900.9432.1042.0 | 200.9433.1050.0 | 200.9434.1025.0 | 200.9435.1019.0 | 200.9436.1011.0
_ P — —
P—O—1 | ‘
Plugs
2 2 |
RV ‘
. =9 —
B1 A1 B2 A2

Note: Body codes consist of seals, plugs, check valve, but relief valve -RV- is not included.
For availability of -K- bodies without ordering code please contact our Sales Department.

www.crosshydraulics.com.au

Section 1.47




HDM11P Series

Mono-Block Directional Control Valve

Spool chart

Type Spool scheme Spool features "R 2 3 »
4 way - 3 position Z mm 4r:Nay - 4 position
- f . "
A s e 2 A/B: blocked | 4" floating position
AB : P E T
E[II;:EX] E: open by pass PR —
High metering spool * £B 4 way - 4 position
AS P E T (max flow suggested ww M 4th floating position
15 I/min.) P<—F
'R 2 4 way - 3 position TR 2 4 way - 3 position with
B A/B: blocked R** EDI;]E regenerative spool in
i E: closed | 2nd position
P E T P E T
11 8 Lz 4 way - 3 position 10, 2 4 way - 3 position
c LN A/B to tank in neutral DP HIERY A/B: blocked
] | E: open by pass p—— - Bo<T
P - E 5 zT b E ! E: open by pass
B 3 way - 3 position 0 2 4 way - 3 position
G ME B: blocked o R A float
- E - E: open by pass [ﬂﬂ}zﬂm B: blocked
o 2 — 5 c 7 E: open by pass
A 3 way - 3 position
S m A: blocked *: “WW” spool require: special body (K...), positioner (240)
E: open by pass and lever (L192)
P E T **: special body required (please contact our Sales Dept.)
Schemes
Two spools Three spools Four spools
P T P T T
- — o —F— ]

e

TG

gl

e

'
St

e _ [ L - [ I N I - |
B1 A1 B2A2 B1 A1 B2A2 B3A3 B1A1 B2A2 B3A3 B4A4
Five spools Six spools
P T P ; i _ -
I | I Lo | I \ [ |

Ui

i
i

\T
|
|
|

"BTA1  B2A2 B3A3 B4A4 B5AS " BIAl  B2A2 B3A3 B4A4 B5A5 B6AG
Spool positioners
Type F (N) Code* Type Code*
01so | 200 200.7685.1001.0 02 200.7685.3001.0
79 140 200.7685.1092.0 ‘
102

3 position spring return to neutral

4

ANNNN\N
SN
TN

AANNNA\N\\
NN 7
)

2 position detent - spring center

www.crosshydraulics.com.au

Section 1.48




HDM11P Series

Mono-Block Directional Control Valve

Spool positioners

00000000

2 position detent

Type Code* Type Code
03 200.7685.2001.0 04 200.7685.4003.0
5 48
59" 197
102
g 1023 2
g N ‘
3 position detent 4 position float Plastic plug code: 200.6780.0009.0
Type Code* Type Code*
05 200.7685.2005.0 06 200.7685.1005.0
15
597

2,

SOSSSSSEEEN
>

2 position spring return

Type
12

Code*
200.7685.1021.0

Type Code*
07 200.7685.2027.0
10

2 position detent

o B

=
\“\“\“}‘3_\\\‘.‘;-;\ N 4 !’
22

2 position spring return

Type Code*
15 200.7685.1109.0

Type Code*
16 200.7685.1110.0

2—1

2 position spring return

N

70

)

N
7
0

222D %

2 position spring return to neutral

N

V7

*: code without plastic plug; plastic plug code: 200.6780.0008.0

www.crosshydraulics.com.au

Section 1.49



HDM11P Series

Mono-Block Directional Control Valve

Spool positioners

Type Code*
17 200.7685.1040.0
27
106" .
2—=0 )

2 position spring return

Type Code*
20 200.7685.3010.0

~
S Y
)

2 position detent + spring center

Type Code*
38 200.7685.2029.0
)
I

1023
‘ |

2 Y=

IS

d 2 ] g ,

ESSNNE A
I",,/////

1Illlllllllllli

NNNRNN
=T

AN NN

4 position detent

Type Code
84 200.9686.1097.0
50
5 196 =)
70° 2 @
} B N h TN I
" Y
o~
x
[se}
b

3 position spring return to neutral

Type Code
88 200.9686.1010.0
40
P |
59°
f
B g
X
b

3 position spring return to neutral

Type Code*
106 200.7685.2028.0

44,5
176"

2 position detent - spring return to pos.1

Type Code Plastic plug code:
240 200.7685.4031.0 200.6780.0009.0

56

4102
“XanRnRAR
f/\/i j N

4 position float
only for “WW?” float spool

*: code without plastic plug; plastic plug code: 200.6780.0008.0

www.crosshydraulics.com.au

Section 1.50



HDM11P Series

Mono-Block Directional Control Valve

Microswitch control

Type Code

30 200.9686.1050.0
Type Code

32 200.9686.1060.0
Type Code

34 200.9686.1064.0

Micro operated with
spool in pos. 1

Micro operated with
spool in pos. 2

Micro operated with
spool in pos. 1 and 2

02

il

102

s

32
125"

10,3

14,7

* The microswitch code 200.9625.0006.0 is supplied
only on customer’s request

Single microswitch control for multi—
sectional valves (15tand second-last element).

Type Code
39 (MSF) | 200.9686.1139.0 '
|
m3
102 -
2l “
Micro operated with spool in pos. 1 and 2 % 1 } 113
% % \é " !
44
173
Single microswitch control for multi —
sectional valves (last element).
Type Code —d
40 (MFL) | 200.9686.1140.0 I
e = |
- = 51

Micro operated with
spool in pos. 1 and 2

.

1 - Positioner 40 must be assembled only on the last element near T port
2 - Positioner 40 require T port plugged. Use T1 or T2 ports

102

2

315

475

124"

187"

59.5

2.34"

* The microswitch code 200.9625.0006.0 is
supplied only on customer’s request.

www.crosshydraulics.com.au

Section 1.51



HDM11P Series

Mono-Block Directional Control Valve

Lever styles

Type 245
L55
8
L <
‘ - T
| I
1
Type |
L100 M8X1.25
M8X1.2
Type | MERT25
L175*
Type ‘ -
Lig2* ) @”@ﬁ] Lo
1 I Type Code
‘ mm inches
ALO001 150 5.90 200.7022.1019.0
Type
L300 }—\ AL002 200 7.87 200.7022.1003.0
Type —
L375* L}*— @E — AL003| 250 9.84 | 200.7022.1005.0
Type ‘ 8
L392** AL004 300 11.81 200.7022.1006.0
M8X1.25 ///' N
* L175 - L375 only for “Z" spool application
** 1192 - L392 only for “WW" spool application
Safety levers
Type f/ 3
L140 5 wexies
=
M8x1.25 T
Type Lo
L150 M8X1.25 Type Code
mm inches
ALO014 160 6.30 200.7022.1009.0
k! ALO18 | 180 7.08 200.7022.1011.0

www.crosshydraulics.com.au

Section 1.52



HDM11P Series

Mono-Block Directional Control Valve

ChosS

Remote cable control

150

42
165"
MB8x125 |,

Only for rod remote control

59
35 40 |
138 757’%
+—
1+ 4]
} E @
o0 o N
O E ~ Ltg - r —
|
o —
Sl %
oli Optional
200.6772.0048.0

Cross joystick for dual axis control

Type Code
ALO038 | 200.7022.2018.0
' o
S
|3
Fi?
M10X1.5

Lever Code Lo
Support | 200.7609.0013.0 M10X1.5 Type . Code
mm | inches
‘ ° AL001| 185 | 7.28 | 200.7022.2001.0
—
7 AL002| 250 | 9.84 | 200.7022.2003.0
75 ‘
, R B AL003| 300 | 11.81 | 200.7022.2004.0
= @
Optional 200.6772.0048.0 P M10X1.5 AL004| 350 | 13.78 | 200.7022.2005.0
Cable Spool Kit e ETETY
length Code /,t T owoo @ ‘: L 1
. 1000 mm | 200.5441.04002 RIS
2000 mm 200.5441.04006 ,,,,,,,,,,,,,,,,,,,,,,:\
- 2500 mm 200.5441.04007
- 3000 mm 200.5441.04008 J
4000mm | 2005441.04009 S o, S
R +
Cables are assembled ‘ ) Code 2009609.0037.0
on the valve only on request and with an extra charge. ' 200.9609.0039.0*
*only for “Z” spool application
Type Code M10X1.5 - Type Code
L142 200.7071.2012.0 L135 200.9759.2020.0
NG
% ] 5] Fulerum Fulerum

4 J

i
M10X1.5

www.crosshydraulics.com.au

Section 1.53



HDM11P Series

Mono-Block Directional Control Valve

HOW TO ORDER

HDM11P 3 - K12 -150 - A 01 A 01 C 03 - L100

Valve Series

Hand Lever Style

Number of Spools

3rd Spool Positioner Type
Porting Code (See Positioner Chart)

Relief Valve Setting (Bar) 3rd Spool Type (See Spool Chart)

1st Spool Type (See Spool Chart)

2nd Spool Positioner Type
1st Spool Positioner Type (See Positioner Chart)
(See Positioner Chart) 2nd Spool Type (See Spool Chart)

www.crosshydraulics.com.au Section 1.54



